Writing Equations for Tan/Cot/Sec/CSC

Name:____________
Write the equation of each of the following functions.
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1.  (Degrees)





2. Radians
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3.  (Radians) 



4. (Degrees)  Write the equation using CSC
[image: image3.wmf]-30

30

60

90

120

150

180

210

1

2

3

4

5

6

7

8

9

10


[image: image4.wmf]-3

p

/4

-

p

/2

-

p

/4

p

/4

p

/2

3

p

/4

p

5

p

/4

-10

-9

-8

-7

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

7

8


5.  (Radians)  Write the equation using SEC
6,  (Radians)  Write the equation using CSC
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7.  (Radians)  Write the equation using SEC
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8.  (Degrees)  Write the equation using CSC
[image: image8.wmf]p

/2

5

p

/8

3

p

/4

7

p

/8

p

9

p

/8

5

p

/4

11

p

/8

3

p

/2

13

p

/8

7

p

/4

-2

-1

1

2

3

4

5


9.  (Radians)
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